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" Find the" rmssmg term in' the foHowmg

.+ -Sgries :

*

ﬁwﬁﬁi@a%ﬁﬁgﬁwmﬁﬁm~
12,17, 23, 30, 38, 2 :

(A) 43 (B) 45

€) 47 (D) 48

Choose the missing term out of the given
alternatives.

e g et & & 1 e b T B
PG NJ, LM, JP, ?

(A) RG (B) GR

(C) HS (D) SH

What is the eleventh term of the following
sequence ?

Fretieead orgea a1 vareat v @ ¥ 7
1, 1,2,3,5,8,13, 21, 34,..

(A) 45 (B) 55

(C) 89 (D) 144

Choose the missing term out of the given
alternatives

mmﬁmﬁﬁwwwmm~
B,S,F,QJ, O N,M,? 2
(A) R, I (B) P, K
(C) P 1 D) R, K
Find the missing term :
I« 95 3 HU -
24, 1116
377 —"21" 31
5 6
A) = B) —
A) 3 (B) T
o D) —
© 73 (D) 7
Find the missing term :
T Ug T B —
8,9,8,7,10,9,6, 11,10, 2 , 12
(A) S B) 7
(C) 8 D) 11
MTHI8B] JT]
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11
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Choose the correct option :
W fome @1 gATe A
2,5,7,12, 19, 2, 50

(A) 26 (B) 21
(©) 31 (D) 33

The missing number in the following series

Prefefea oof ¥ qa dem e -

12,32, 72,152, _ 2 . 632

(A) 515
(©) 432

(B) 312
(D) 586

What will be the next term of the following
series ?

et St @1 o v @ 7

. 1, 10, 37, 118
(A) 354 (B) 361
(C) 363 (D) 465

Find the missing term :

forger we s w3 -

13, 32, 24, 43, 35, _2_, 46, 65, 57, 76
(A) 45 (B) 52

(©) 54 D) 55

7th term of the series is -
Il &1 74 T ¥ -

Next term of the sequence 1039, 2247,
3455, 4663, ..... is

ST 1039, 2247, 3455, 4663, ...
AT UT T —
(A) 5782
(C) 5871

- (B) 5881
(D) 5772

[P.TO.
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8 men can finish a piece of work in

- 40 days. If 2 more men join with them,

then the work will be completed in :-

(A) 30 days (B) 32 days
(C) 25 days - (D) 34 days
8 Jrrent Preteht Was &I @Y 40 R & warg

BT G § 1 AR 2 smed ok R e
W @ @ fea e § wra @ o ?
(A) 30 R ®) 32 R |
(C) 25 fm (D) 34 &=

The mean of 40 numbers is 38. If 4 is
added to each of the first ten numbers then

- the mean of new set of 40 numbers is -

40 Gearatl @t arew 38 ¥ 1 9fY yuw ydw
T gEmsh ¥ 4 wieT War € a9 40 geansi

Y W B oA ¥ -
(A) 38 (B) 39
(C) 40 (D) 42

Sandeep completes a work in 8 days, Ram
in 16 days and Shyam in 12 days if all
three work together, then in how many
days will half of the work complete ?

11 11 ,
(A) 1—- days (B) 3;-5 days

11 8
2 -
© P days (D) 3 T days

LY T% & @ 8 R F, W 3y 16 R
¥ quT W@ 12 R ¥ g @ € 1 ol
T PrBt B &Y ar oM B R
ot & wme € s 7

11 : 11
A) IE &= (B) 35 &=
11 8
(©) 21—5 e (D) 3-1? &=
MTHI8B] []
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16 men or 25 women can do a work in
20 days. In how many days 10 men and 5
women can do the same work 2

(A) 22-1-]- days  (B) 22% days

2
C) 24— days
©) 33

16 3MEHT A1 25 Y UH & B 20 B}
A BT B € 1 10 S qur 5 oy s
% & foee R Y v gpq ¥ 7

8
D) 24— days
(D) 33

(A) 22% o= (B) 22% &

8

2
(D) 24-3-5 &=

©) 24 e

The mean of 10 observations is 25. If one
observation 25 is deleted, the new mean
is-

10 o o1 H7em 25 ¥ | aR @ Y 25
%l BT W A A A ¥ -

(A) 25 (B) 20

(C) 28 (D) 22

A man purchased 11 pens of ¥ 10 and
sold all pens at the rate of 10 pens for
< 11. His profit percent is :

Th AR YT 10§ 11 3 Wl qur o
TN A T 119 10 39 % wig § 9.
foar | 3T Wy ufiea §
(A) 10% (B) 11%
(€) 15% (D) 21%

Lalit buys a radio at 3/4th of its printed
price. He sells at 20% more of its printed
price. His profit in percentage is —

- WfeTd O e Sw sifhd qed % 3/4 Tr

T GliEd ¥ 198 oifted Twr & 20% st
U S S9AT ¥ | S9! oY URie ¥ ¥ -
(A) 20% (B) 25%
(C) -45% (D) 60%

- [PTO.
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21

22

23

24

(A) 22%

The salary of the employees of a company
increases every year by 5%. If his salary
in 2015 was T 10,000, what would be his
approximate salary in 20192

T HHl & FHNET B a7 YRyes 5%
e & 1 ARy o 2015 F wErd @0 daw
T 10,000 ar & af 2019 & wdenrd @r
WA o9 B —
(A) T 12,155
(C) 12,108

(B) ¥ 12,000
(D) T 12,180

Successive discount of 30%, 20% and 10%
is equivalent to :

30%, 20% T&T 10% HNT B, % qHGed
3 5
(A) 50.4%
(C) 50%

(B) 49.6%
(D) 60%

In an examination 40% students failed in
Mathematics, 30% failed in English and
10% failed in both. The percentage of
students who passed in both subjects is —

e aler ¥ 40% et i ¥ st
BT, 30% eofslt ¥ orinf gw @ 10%
SHE & argeiiel g, @ Y Rt et
e e ferenfay @ gfyee ¥ -

(A) 20% (B) 40%

(C) 60% (D) 15%

If the marked price of a mobile is T 500

and it is sold at ¥ 340 then, the percentage
discount is —

f} T AW H1 sifhd gw T 500 ¥ aa
34 T 340 ¥ e ¥, a9 yRige w3 -
(B) 28%

(©) 32% (D) 36%

Ravi bought a shirt and saved ¥ 20, when |

a discount of 25% was given. What was
the price of the shirt before the discount ?

25% g2 & 911 W 0 ¥ w0 @l
SR 20 92T 1 5T § vEw 91 % R g
qr 7

(A) %75
(C) T 90

(B) T 80
(D) T 95

MTHI8B] JT
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Two numbers are respectively 20% and
32% less than a third number. What
percent is the second number of the first
number ? '

& demd dEd dem ¥ wAw 20% aon
32% &% ¥ | qEU dewr vedr v @
fepertt wfcrera ¥ 2

(A) 12% (B) 112%
() 85% (D) 117%%

After allowing a discount of 20% on the
marked price of an article a shopkeeper
makes a profit of 25%. What is the cost
price of an article if the marked price is
< 250 ?

Rt g % it e W 20% 9 gz 3

WX Ueh GHITRTT BT 25% o1 @I Bl & |
Al sifeher Yea T 250 7, < g @1 v g
w7

(A) % 100
(C) T 200

(B) T 160
(D) T 225

George can do a certain work in 28 days.
If George is 40% less efficient than
Thomas, then in how many days Thomas
alone can do the same work ?

(A) 20 days (B) 24 days

(C) 26 days (D) 32 days

W et fifaa @ @y 28 Re § v

THA T | A S, A 40% HH FIT

T 9 AT arhe SO W @Y Rpa Ry A ¢
HY GhaT & 7

(A) 20 = (B) 24 &=

(C) 26 &= D) 32 fe=

A is twice as fast as B and B is thrice as
fast as C is. The journey covered by C in
54 minutes will be covered by B in —

(A) 9 min (B) 18 min
(C) 27 min (D) 38 min
AW O BY & AT ¥ 9T B T C

Y AR AR | C T 54 B & @g &
0 & B fpaet 3T § 99 &¢ urpm ?
(A) 9 firre (B) 18 firFe

(C) 27 fe (D) 38 fire

[PT.O. |
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A 250m long train crosses a pillar in
12 sec. Find the speed of train -

(A) 68 km/hour  (B) 72 km/hour

(C) 75 km/hour (D) 78 km/hour

Y 250 HieX @l 39 U @ #y 12 Yo
¥ R wel ¥, A I o Ry w B -
(A) 68 TorHi/e. B) 72 e

(C) 75 fpdi. (D) 78 fedire.

‘A’ goes 10 km distance with average
speed of 6 km/hour while rest 20 km with
an average speed of 15 km/hour. What is
the average speed of ‘A’ during the whole
journey ? .

(A) 8 km/hr. (B) 10 km/hr.

(C) 12 km/hr. (D) 13 km/hr.

‘A 10 ferdt Y g 6 Rty @ ol T
q gwnr ¥ qur 9@y 20 fedt @ g
15 fo5di/e. o7 ofvwa o @ qof @wan & &
g # A’ @ efree we Enl —
(A) 8 . (B) 10 fpHire.

(C) 12 Ty, (D) 13 T/,

Ram can cover a certain distance in 1 hour
24 minutes by covering two third of the

- distance at 4 kmph and rest at 5 kmph.

Find the total distance.

(A) 5 km (B) 6 km

(C) 4 km (D) 8 km

T e i g & Rl wrr @
4 feo et w.d. ao 9w g0 B 5 el v,
A Y AT B § 1 geey 24 e ¥
T q A/ BIA ~
(A) 5 fp.4.

(C) 4 fr.AL.

(B) 6 f&.4.
(D) 8 fn. AN,

- MTHI18B] [T
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In.a flight of 600 km, an aircraft was
slowed down due to bad weather. Its
average speed was reduced by 200 km/hr
and time of flight increased by 30 minutes.
The original duration of the flight was -

(A) 1:00 hour (B) 1:30 hours

(C) 2:00 hours (D) 2:30 hours

600 Tt 7 T S ¥, us fmm & Ry
B WU AT ¥ Hreer 9 Rwm T
el iy # 200 fri/eer ot e gf
U1 IgEAT b 30 e s T | IeW
B g ety -
(A) 1:00 €T
(C) 2:00 =<

(B) 1:30 g2
(D) 2:30 &<

Pankaj is walking at a speed of 5 km / hr.
After every km he takes rest for
10 minutes. How much time will he take
to cover a distance of 25 km ?

(A) 4 hours (B) 5 hours

(C) 8 hours (D) 9 hours

Uepst S fopHY [ ave &) e § Sear § ) 9
v 6l % usena 10 Rrie & fg e
B § 125 Tl Y g B Qo Ed %
foe T frar ww @ ?

(A) 4 gue (B) 5 gue

(C) 8 gue (D) 9 Tue

A car leaves Agra at 6 am and reaches
Lucknow at 11 am. Another car leaves
Lucknow at 8 am and reaches Agra at
3 pm. At what time do the two cars meet ?
(A) 9:15am (B) 9:30 am ‘
(C) 9:45 am (D) 10:00 am

T B Wa: 6 S50 ST ¥ ger & au

R 11 &S d@TS Bad § 1 gEd B

TR 8 ¥Y WEITS ¥ Ul ¢ qUl SIEt
3 9 ST UgE ¢ 1 5 wwg gl @i
et & 7

(A) g8 9:158%  (B) gu% 9:30 5w

(C) & 9:459 (D) G 10:00 99

[PT.O.
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35 A train 125 m long crosses a tree in
10 seconds. The speed of the train is -

(A) 125km/br - (B) 25 km/hr

(C) 35 km/hr (D) 45 km/hr
125 1. Tl (e w U5 @y 10 Ygve
HUR B Y | e @ A o
(A) 12.5 fdyguer (B) 25 fedy/auey

(C) 35fffaver (D) 45 Rpdiaver .

36 A car travels 67 km in 1.5 hours and 97 km
In next 2.5 hours. The average speed of

the car is - ‘ ,
(A) 41 km/hr (B) 82 km/hr
(C) 85.75 km/hr (D) 97 km/hr

Th & 1.5 92 # 67 fFl qur oy
2599 % 97 5y Tt & 1 @R &) eitga
oA g -

(A) 41 fefifemer  (B) 82 Rpdiyawer 41
(C) 85.75 fepdi/mver (D) 97 fewi/eey

37 .If a man can row at the rate of 3.5 km/hr
in still water and his rate against the current
1s 2.5 km/hr, then the man's rate along the

current is -

(A) 4 km/hr (B) 4.5 km/hr

(C) 5 km/hr (D) 5.5 km/hr

s U =l Raw o § 3.5 Redyaver &)y

Y G TAr T qur suwy My a1
ford 2.5 fedyaeer ¥ aw urg % Oy
aredr @ iy ¥ -

(A) 4 Fefifmear (B) 4.5 Refiyeoe
(©) 5 el (D) 5.5 Repefiyeey

42

38 Find the missing term in the following

% ol % g ug Rl B
shadshabsd,
@) 4;11- ®) 6%
©) 4-;1- (D) 6-}1-
MTHI8B] [T 6

- (C) 25%

39 The prime factors of 7429 are —

7429 % NS TOTETS ¥
(A) 7,13, 19 (B) 9, 13, 17
(©) 17,19,23 (D) 13, 17, 19

In how many years does a sum of money
become four times at the simple interest
rate of 20% per annum ?

foper =t & wa wftr, 20% oS T
S B T F TR AT @ O ?
A) 20 'B) 8§

©) 12 (D) 15

o 25
A sum compounded annually becomes -1_6—

times of itself in 2 years, the rate of interest
per annum is - .

T o9 2 9§ ¥ e awbahy ¥ wd @

Tgﬂws‘rm%, iy o e Ay av k-

(A) 5% B) 12.5%
(D) 50%

2,600 were given on ihterest'in two parts. {
If simple interest of first part in 3 years
with 5% interest rate is equal to simple
interest of second part in 6 years with 4%
interest rate. What is the second part ?

% 2,600 3 wrf ¥ = W RY T | o
5% i &T & 3 o ¥ w7 v
I, 4% AMH 7T X 6 o F gy A
U 9 & qIET W, @ @ W
o & 7

(A) % 1,600
(C) 900

B) T 1,300
- (D) T 1,000

 [PTO.
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The simple interest on a sum of money is
L of the sum. If the number of years is

numerically equal to the rate percent per
annum, then the rate percent per annum
is -

wmﬁéwrmmmwxﬁ%m
fg% | T O At @ e, e

wﬁrsmar'a%maawﬁ?ﬁaﬁm
giaerd ¢ feaet & 7

(A) 3=

62
5 B) o7

1 .
© 33 ®) 27

The simple interest in 3 years and the
compound interest in 2 years on a certain
sum at the same rate are ¥ 1,800 and
T 1,236 respectively. The rate of interest
is -

oo Fiftea o9 X wne e W e 9
399 ¥ qrEwer @ o 2 99 § @hghs
= HAT: T 1,800 q4 T 1,236 % | @t
WA F -
(A) 4%
©) 6%

(B) 5%
(D) 8%

The difference between the compound
interest and simple interest on a certain
sum at the rate of 5% per annum for

-2 years is ¥ 25. What is the sum if interest

is compounded annually ?

fordl FifYea o« W 5% aiife = &) e
¥ 2 9nl % fIY wrumer s qun ety
T BT X % 25 ¥ 1 afk awhghy s
qifs Wt AW T R Y ?

(A) T 1,000 (B) T 5,000

(©) T 10,000 (D) T 50,000

MTHI8B] ]
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(A) 90 years

The population of a village 2 years ago
was 62,500. Due to migration to cities it
decreases at the rate of 16% every year.
The decrease in its population in last
2 years is -

299 qd T WG By SHEEd 62,500 o |
STET ! X UATIT o B0 569 16% Wi
oy %t 3 ¥ & BN ¥ 1T 2 et g
W ¥ e ¥ -

(A) 16,000 (B) 18,000

(C) 18,400 (D) 18,500

The ages' (in years) of A and B are in the

ratio 5:7. If A were 9 years older and B

9 years younger, the age of A would have

been twice the age of B. The presont age

of B is -

(A) 12 years (B) 15 years

(C) 21 years (D) 24 years ‘
AUl B el 1 (Il ) 7 STur 5:7 ¥

afe A9 a9 59T Ao B 9 o wier g

Al Ag B @ og ¥ T SR B @

A &Y T —
(A) 12 a4

(C) 21 ¢

(B) 15 =¥
(D) 24 99

The ratio of present age of A and B is
4 :5. 18 years ago, this ratio was 11 : 16.
The sum of the present ages of A and B
is -

(B) 105 years

(C) 110 years (D) 80 years

A 3R B &\ SR S11g BT U 4 : 5 %1
18 a9 g T% U 11: 16 411 A 3fX B
@ A Y BT A

(A) 90 9 (B) 105 ¢

(C) 110 99 (D) 80 =

Which number should be subtracted from
23, 30, 57 and 78 so that remaining
numbers are in proportion ?

23,30, 57 &R 78 ¥ § & & & W
w6 v gt g 8 7

(A) 4 (B) 5

) 6 D) 7

[PT.O.
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The average age of 3 students is 20 years
and their ages are in the ratio 3 : 5 : 7.
The age of the eldest student is -

(A) 20 years (B) 35 years

(C) 28 years (D) 30 years

A BT @t Sitea oy 20 o ¥ qen e
amgell & U 3 :5: 7% A gad =
W B Ay far ¥ 7

(A) 20 T (B) 35 ad

(C) 28 a9 (D) 30 a9

The income of two persons A and B are in
the ratio 8:5 and the ratio of their
expenditure is 5:3. If the savings of A and
B are X 2,400 and T 2,000 respectively,
then the income of A is — :

T ARl AT B B SR HT S 8:5
AT 3% 0T T ST 5:3 % 1 afE Aqu
B & s9q %HeT: T 2,400 Tam % 2,000
WA AT E -
(A) 22,400

(C) ¥ 23,400

(B) ¥ 24,400
(D) T 21,400

The ratio of the son's age to the father's

. age is 1 : 4. The product of their ages is

196. The ratio of their ages after 5 years
will be -

TH G T I T Bl oy w1 S
1:4% | 700 oMg & oA 196 & |
59y 9 S g H U B -
A)4:11 B)4:5

(©€) 3:10 D)1:3

What number must be added to each of
the number 6, 15, 20 and 43 to make them
proportional ?

g 6, 15, 20 q97 43 Y% o HF-dl
T a9 WS T qife A FAEA &
W 7
(A) 0
© 2

(B) 1
(D) 3

MTHISB] [

54 The ratio of 45 minutes to 5% houfs is -

{0 3:4

45 fe qan s%a@wa@nﬁ%~

(A) 3:23 (B) 23:3

(D) 15:1

The following table shows the percentage
profit(%) earned by two companies A and
B during the year 2014-18. Answer the
question based on the data contained in
the table. .

Percentage Profit (%)
Year A B
2014 20 30
2015 35 40
2016 45 35
2017 40 50
2018 25 35
 Where,

Income — Expenditure

% profit = x 100

Expenditure

What is the average percentage profit
earned by the company B ?

 Prefafga sl § € GubEi A ok B

T 9y 2014-18 S it @ wfasra
(%) & gorfar mm ¥ | UsA & ST wl
¥ & T T ¥ oemur W Ag

WY WRTH(%) |
9 A | B
2014 20 30
2015 35 40
2016 45 35
2017 40 50
2018 25 35
e, % T = e 100
=Y _
& B gra it @y @ efaa ufasraarn
T2 .
(A) 35% (B) 38%
(C) 40% (D) 42%

[P.TO.
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' Name 4

are et ¥ & P Rl e e

Read the given table and answer the

following question :

Marks secured by four girls out of 100 in
five different papers

Papers —

‘Priya 45163152176 |87
Pooja 67541488975
Pinky 79148166 (57 | 88
Poonam 5317284147169

Who amongst the four girls obtained the
second rank position ? '

(A) Priya (B) Pooja
(C) Pinky

&1 T "l @t ufew qan frfaiea v
& IAT Y : |

g fafe= wemmel & A aferetll &1
100 % ¥ W< 8ie

(D) Poonam

T -

am |
fran 45 ,
gt 67 |54 4889175
RES] 79 |48 166 |57 |88
g 5317284147 |69

fpar 7
(A) B
© ﬁﬁﬁf

(B) gem
(D) T™
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Read the figures in the table and answer
the following question :

Yearly income of five members of a family

~ in last four years are given in Indian

rupees.

Name

Year — .
2014 2015 2016 2017

Suresh 2,43,700 {2,67,300 | 2,95,000 | 3,14,000

Mahesh 1,81,000 | 1,98,000 | 2,32,500 | 2,54,000

Dinesh 1,605,300 | 1,05,700 ] 1,07,500 | 1,17,000

Rajesh 2,11,000 | 2,35,000 | 2,55,000 | 2,82,000

Mukesh 3,29,000 | 3,44,000 | 3,60,000 | 3,83,000

What percent of the total family income is
increased in year 2017 to the previous
year ?

gret § few g afest & ufen g
frrfefea wew @1 sav i ¢

T IR 9N # TF URER & die el o
aifitfes ey W TOY X A W ¥ L

am

o >
2014 2015 2016 2017

gia 2,43,700 | 2,67,300 | 2,95,000 | 3,14,000

LiE 1,81,000 | 1,98,000 | 2,32,500 | 2,54,000

Redar 1,05,300 {1,05,700 | 1,07,500 | 1,17,000

AT 2,11,000 [ 2,35,000 | 2,55,000 | 2,82,000

qH 9T 3,29,000 | 3,44,000 | 3,60,000 | 3,83,000

forrer o @ ger & o 2017 & wfErT &l

g o ¥ fee fera & ghe g8 7
(A) 6% (B) 8%

() 10% (D) 12.5%

o [PTO.



58 The marks obtained by 80 students in a
test is represented by the following
histogram. How many students obtained
marks less than 30 ?
we ulEe § 80 frenfiet % wriini bl
Ry e o g vefie fear T R
e RrnféRl ¥ 30 ¥ 9 ofe W Y

¥ 7
Y
A
T 30l
B ol
% 24}
20
16
@ 12
5
< 8f
s
h a4r
G 0 10 203040 50 60
Z Marks j gTaics —
(A) 12 (B) 16
(C) 24 (D) 52

59  What is the crude death rate of a town for
the following data ?

Age Group Population | Death
(in years) ,
Below 5 15,000 460
5 - 30 30,000 520
Above 30 | 25,000 560
s et F Pt sifeel % g erafud 7
WHRE ?
R E T
(e 7)
sa#a [ 15,000 | 460
5 — 30 {30,000 520
30 & arfus | 25,000 | 560
(A) 154 (B) 20
(C) 22 (D) 45.45
mTHISB] []

10

60

—

Export Quantity
(in Metric ton)

@ 10
5- H

Read the bar graph given below and
answer the question :

Export of cotton by five companies in
a year (in metric ton)

YA

30 -

. L] B
g o » (=] (3]
1 1 1 V3 k)

|
|

|

0 A

1

B C D E
Companies —>»

X

What is the average export of cotton for
all the five companies in the given year ?

(A) 15 metric ton (B) 15.5 metric ton
(C) 16 metric ton (D) 16.5 metric ton
2 Rg T gvE TG B GfET TET T Al
S AT
o a9 § Ut wiE g e T
1 Prfa (e = )

I

5 ¢ b E %
z

0 A

o o & e e % R o A

e Prafg ®U T 7
(A) 15 Afgs =7 (B) 155:?112?53-.1
©) 16akE =1 (D) 16.5 Afgew A

[PT.O.

i,

61

62

63

Sanjay started a business by investing
T 5,000. After 7 months, Vijay joined with
a capital of ¥ 8,000. If at the end of the
year, they earn a profit of T 1,500, then
what will be the share of Vijay in the
profit 7.

Horg ¥ ¥ 5,000 FrEi9T @ Ueh ST 9Ty
fopor | 7 e wyEq fawr ot 8,000 it
% Gy gitwfad & T Ak 9l & o A
o T 1,500 &1 @14 gaM, < e H foor
&1 aigT /T B P

(A) T 500 (B) T 600

(C) T 750 (D) ¥ 900

A starts a business with ¥ 2,000 and B
joins with him after 3 months with ¥ 8,000.
After a year, they earn a profit of < 20,000.
The share of A is —

A, T 2,000 ¥ YR GrCT HIAT & 97 a0

e 918 B, T 8,000 WY SN GEEN &

% | afg ol % o W g @

T 20,000 81, | AT @9 & —
(A) T 2,000 (B) T 3,000
(C) T 4,000 (D) T 5,000

The given figure shows the food liking of
1080 people of a city -

Bati
45°
Idly 90°
45° XN

600 1 200
Dosa

Rice

Chapaties

The percent of the people who like Bati

is -

o P~ o us Y & 1080 & &
WM & 99 B g T E -

qIE
33?'?[ 45°
45°

60° 1 200
K
KiGi|

ST T 911 E B &, I Uit B
(A) 12.5% (B) 30%
(C) 45% (D) 60%

T
90°

MTHI8B] [
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64

65

66

67

A certain sum will be doubled in 15 years
on simple interest at the rate -

(A) 53% pa  (B) 6% pa.

(C) 25% p.a. (D) 62% p.a.

of wrg it 15 99 F et S Bl 8%

I A e AR

e B ? |
(A) 5%% gy ad (B) 6% ufa a9

©) 25%ufrad (D) 62% k=

At rate of interest 5% per annum
compounded annually, what will be the
ratio of principal amount and total amdunt
after »n years ?

5% i Tehghs &S @ 8T § Sl

S i 39 B, 1 9Nl & UgER AT
qUT FA € BN AT &1 B 7

(A) 22)" D" B) 2" :0)"

©) 20y :2D" @) (22)":(20)"

"Buy three, get one free". What is the
percentage of discount being offered here ?

A TGN T b g I"WEﬁ"ﬂrﬁHﬁg\z’
&1 Giaea FTE 7 |
(A) 20%
(C) 28.56%

(B) 25%
(D) 33.33%

A woman buys a watch for ¥ 300 and -
sales it for ¥ 550. Her profit is

us AR, T Te T 300 ¥ gled § qur
3§ T 550 F 9 AN ¥ | W & @ g
(A) T 550 (B) ¥ 300
(C) T 250 (D) % 850

[PT.O.



68 In how much time a sum of ¥ 6,400 will

amount to ¥ 6,561 at the rate of 5% p.a.
if the interest is compounded quarterly ?

(A) 6 months (B) 12 months

(C) 18 months (D) 24 months
foe @ ¥ % 6,400 @1 w7 5% i
e Hw W ¥ T 6,561 € W AR
gy W R 3w 7

(A) 6 & (B) 12 WK
(C) 18 @18 D) 24 717
69  If 12% of a certain sum is T 43.5, the sum
is -
af feodt Fivea o @1 12%, T 43.5 %, @
g7 % -
(A) 36250 (B) T 262.50
(C) X 435 (D) ¥ 36.25
70 What is the rate of simple interest at which
T 13,000 gives interest of T 6,370 in 3—;—
years ? '
| =T fob ¢ & stafs 13,000
1 ,
w3 o % fog =T 6,370 ¥ 7
(A) 5% (B) 10%
©) 12% (D) 14%
71  In what time will a sum of money double
- itself at 12.5% per annum simple interest ?
(A) 4 years (B) 6 years |
(C) 8 years (D) 10 years
fre 9 & B o9 12.5% eifer Qe
S ! I Y AT B WE ?
(A) 4 7§ (B) 6 a¥
(©) 8= (D) 10 &
MTHI8B] [] 12

72 Ajay starts a business with ¥ 4,000 and

73

74

Vijay join him after 3 months with ¥ 8,000.
The ratio of their profit at the end of the
year is - '

3w T 4,000 ¥ UH AR TN HTT &
a3 |ig 915 foer T 8,000 WY IgH
RN & 9T ¥ L d % o A @

AT & —
(A) 1:2 (B) 1:4
() 2:3 D) 3:2

If X 1380 is divided among A, B and C in
such a way that A receives 5 times as much

as B's share and is 3 times as much as C's

share, then C's share is
gfx T 1380 &7 A, B @91 C ¥ 39 Y&
ferefora fomam St &, f6 A, B % afgr @t
57T qUT C % 39T 1 3 T[T Wi il §1
a9 C &l 3igr & —
(A) T 300
(C) T 900

(B) ¥ 600 |
(D) X 180

What will be the mirror image of the figure
if AB is a mirror ?

& ™ for @ ol wiifs @ e oy
ABTUH g & ? '

A B

TTTTTT7 777777

[PTO.

75 Next shape will be -
TR STTpTer BN —
& NS v
?
v AN
v v
(A) ®) |/
h v
©f 4 o
76 How many triangles are there in the
following figure ?
Prefefam ompRr & R Fregst 37
(A) 8 B) 10
©) 12 (D) 14
77  Prakash is moving toward East. He turn

(A) TR

first left, then right, then left then right.
Now in which direction he is moving ?

(A) North (B) South

(C) East (D) West

TE1eT g fa9m @Y i =@ V&7 3| 9 uE
Tl SR oot ®1 9% o9 fpw fRen § =
w7 |

(B) e

(C) g& (D) ufyem

In a line of trees, a tree is 12th from the
left end and 18 from the right end. What
is the total number of trees in the line ?
Tl & uw Rk ¥ T U 9l 8 ¥ 1247
Jor IRt B & 184t ¥ 1 ufeR F ISt @1 g

e ® -
(A) 28 (B) 29
(C) 30 (D) 31
MTHI8B] [T
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79

80

81

82

83

(C) Wil

In a certain code 'AMNESTY' is written
as NMAEYTS'. How will 'BRIGADE'
written in that code 7

s fafyga e * 'AMNESTY' &1
'NMAEYTS' feer wmar &1 g6 ¢ o
'BRIGADE' @& %9 ferar s ?

(A) IRBGEDA (B) EDAGBRI

(C) ADEGBRI (D) EDAGIRB

Find the wrong number in the sequence

Prer 3 ¥ SRl wem @Y s AR —
52, 51, 48, 43, 34, 27, 16

(A) 27 (B) 48 - ’

(©) 43 (D) 34

A and B are Sisters. C and D are Brothers.
Daughter of A is Sister of C, then how B
is related to D ?

(A) Mother (B) Grandmother

(C) Sister (D) Aunty

AR BEed ¥1Cam D wiE ¥1 A% T,
C & 984 § 199 B, D 9 g wert deifa
¥ e
(A) |t
(C) «&9

(B) T
(D) g/

A girl introduced a boy as the son of the
daughter of the father of her paternal uncle.
The boy is related to the girl as -

(A) Son (B) Uncle

(C) Nephew (D) Cousin ‘
e TSl A T wsh B uiay & i 9%
IG5 G & far B I8 B wSH T, aqv
TSH B TSH § LT AT —

(A) S=T (B) =T

(D) FHU X

Which of the following is not a Leap year 7
freforfaa & ¥ wrer o @ et TE ¥ 7
(A) 1912 (B) 1984
(C) 2000 (D) 1978

[PTO.



84

85

A man started walking from his house
towards south. After walking 6 km, he
turned to his left and walked 5 km. Then
he walked further 3 km after turning left.
He then turned to his left and continued

his walk for 9 km. How far is he away
from his house ?

(A) 3 km (B)4km
(€) 5 km (D) 6 km
T STEHT 708X afor &Y o T
& fe6ar | 6 felt e F wyar 9w aroh
Tl &R 737 R 5 Rl aem Rex g7 T
eﬁ“{gsfﬁmféstﬁaw | &% T aTael gy
3T 2T 3R 9 Relt @ wreram <ot | o
WY @ fpat qr & 7

(A) 3 el (B) 4 feey
(C) 5 ooy (D) 6. T

What was the day of the week on 12th
January, 2018 ?

(A) Monday (B) Friday
(C) Saturday (D) Sunday

12aﬁaﬁzo1saﬁwrgwaﬁ=rmﬁ=r
o 7

88

89

920

(A) TR (B) gwar
(C) aifEmr (D) AR
86  Sourabh walked 20 km towards West took
a right turn and walked 30 km then he
took a left turn and walked 20 km. How
much distance is he from the starting
point ?
(A) 40 km (B) 50 km
(C) 60 km (D) 70 km
Gy aftes B eie 20 Rt Twm o qrlt
ST ST T 30 el T R Al @i ey
Q& 20 feorft =1 i Rig & @ o
o e
(A) 40 fpefy (B) 50 fopedy
(C) 60 fepsy (D) 70 feiy
MTHI8B] T 14

87  How many sectors of a circle are there in

the following figure ?

Frefofea smpfer & Reew Brougee 37
(A) 5 (B) 10
(€) 15 (D) 20

The number of total squares in the
following figure is

Prer Ry F g it A e ® -

(A) 16
(C) 30

B) 20
D) 36

If K =11 and STEP = 15, how will you
code 'SISTRUM' ?

gfe K = 11 @1 STEP = 15, &g
'SISTRUM' &l fé5@ 9&IX P & ?
(A) 16 B) 17

©) 19 (D) 48

Find the odd man out :
T @ By

1, 5, 14, 30, 50, 55, 91
(A) 5 (B) 14
©) 9 (D) 50

[PTO.
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91  Find the word which is different from rest-
(A) Cow ~ (B) Lion
(C) Goat (D) Sheep
Prer & @ ordwa 9 Bifd —
(A) ™ (B) I
(C) @&l (D) 9%
92  Select the odd word from the following
options :
(A) Opera
(B) Firefox
(C) Microsoft word
(D) Microsoft Edge
frer Ryapeat ¥ ¥ Rrow o @ BIRY -
(A) T
(B) BTG
(C) WEFmET a8
(D) WTEEhEITE TS
93  Identify the odd one out.
(A) Teacher (B) Trainer
(C) Professor (D) Student
frr & @ foww @ geEItR -
(A) freren (B) wlireren
(C) WHER (D) feremeil
94 Find the odd one out.
(A) Gold (B) Silver
(C) Brass (D) Iron
A BifeT —
(A) | (B) di
(C) draw (D) ®reT
95  Samir ranked ninth from the top and 38th
from the bottom in a class. What is total
number of students in the class ?
TR & W wen § S ¥ 94, A W
384t ¥, d Sarell wen ¥ o fohan frendl
g7 |
(A) 45 (B) 46
(C) 47 (D) 48
MTHISB] [T
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96

Complete the series H, V, G T, F, R, E, P,

[

SNHV.GTEREP &
PHINTT |

(A) D, N B) KL

(C) C,D D) L, K

7

98

99

100

If the series 4, 5, 8, 13, 14, 17, 22,
is continued in the same manner which
one of the following is not a term of this
series 7

afy 9ot 4, 5, 8, 13, 14, 17,22, .
= & ¥ O Ter s, Prefaten ¥ 9
& G w39 9o &1 uH ug T 7
(A) 31 ®B) 32

(©) 33 (D) 35

----------

Five persons are sitting in a row. D is right
to P and left to T. B is left to V and right
to T. Who are at the ends of the row ?

g =t ws o ¥ 3 ¥1D, P % ol
o qar T % il 9 81 B, V& Srif it
ot T % =it oi ¥ 1 ity & B TR B-
B B 7

(A) D, T
(C) B,V

®B)TB
D) D, B

X is more richer than T. T is not as rich
as D. S is not as rich as T or D. Who is
the richest ?

X, T wrer e+ &1 T, D fieen o=t =&
%18, Tar D e &+t =il &1 &9 @@
eI
(A) X
(&) D

® T
D) S

How many meaningful English words can
be made with the letters of the word
'"TEMA' using each letter only once in each
word ? '
9@ g1 ¥ 'TEMA' T % Weieh 3TeTY &l
et T ST TART B §Y SO % R
Freqel g/ I S W ¥ 7

A) 1 B) 2

© 3 D) 4

[P.T.O.





